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Note

e

PAPER-I

N AAYA-I
This paper contains fifty (50) multiple-choice questions, each question carrymg
two (2) marks. Attempt All the questlons

Pl HAWAUE Y0 Gglasely usdl . el O Qu 8. sal o UsdldL ge

21,

Directions (Q. Nos. 1 to 5) :

Jast

Read the para :

Some matters do not decompose. Some matters take longer time to decompose. All plants
decompose. All creepers are plants. Plastics decompose in longer time. Animals decompose
in longer time.

Which of the following statement(s) strictly do not flow from above given statements ?

A) Plants are matter ‘ - (B) Everything decomposable is matter
© Animals are matters . D) All of the above - '
@A) Creepers decompose (B) Creepers are matters

© Some creepers are not animals D) None of the above

A) Plastics are matters

(B  What takes longer time to decompose is matter

© Creepers decompose

(0)] All of the above .

(d) ~ What decomposes in longer time is matter

@B Matters are creepers ' '

© Animals are matters

(1))] All of the above

(4) Some matters are. plants

® Plastics take time to decompose

© Some matters decompose, others do not

()] None of the above

(Wt . 1 ol 5 32) :

A2 »ulal WRWe qia) :

Bedlls gl sleatct tell. Jes gl Sisaudl ag wHy atﬂ 8. ol 9IS Sed &,
ol Adlail is 9. Res fedidl ag wHu @wdl B, Pl Seaidl Qg UHY @wdl
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Directions (Q. Nos. 6 to 10) :

10.

The following is the data (in crores) for educational expenditure (Ed. Ex.) for the various

plan period, population (Pop) and Price Index (PI). [Base—~1973—100]. This is purely hypothetical.

Plan Periods

Items VI /i VI X

Ed. Ex. 17.3 285 37.6 38.5

Pop. 50 55 ‘ 01 70

PI 123 144 189 210
In which plm} period the total increase(%) in Educational expenditure was maximum ?
@ v . ® Vo
© i O KX
In which plan the per capita expenditure (without correction for Pop ‘&‘PI) was the maximum ? .
@ v _ . ® v ’
© i O KX
In which plan the population increase with respect to the preceding plan period was minimum ?

@ v ® VI

© v : O KX
In which plan the per capita expenditure with PI-100 on education was maximum ?
@ VI o ® VI
© v | O KX
In which plan educational expenditure as percent of total allocation was maximum ?
@w Vv : ® VI |
© vm O KX
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qastt (uat 6 ol 10 W2) :

A ARy Al wxaoua weqn Aakis wal ha\-u isS1 (3usm) arell-dval A
oilais 2ulal 8. (3R 1973-100).

LU SRS wlRkdl © ¢

10.

11.

ylopell ANYIUAL
Rod VI VI VI X
daRs wl| 173 285 37.6 385
axdl | s . | s 61 70
euais 128 |, 144 189 210

8l ePat AaRis walni end awdl (%) 28l?

@ VI B . ® VO
© v D) KX :
&6 dloetl eMaunt wengls vl (ardRivil v cudisdy YRt ad1R) e adl?
@ VI ® VI |
© v | 0 KX :
56 gt eABAt weoell flogiirll gartini ardlasu et 2yl :
@® Vi ' ® vI
© vi - O KX '
56 dlopenl sABui R vl uedls wal *UAis 100 WU MRS 2y)l?
@ v ® VI
© v O KX
56 Al e ga s1asl-u est wd AaRs Wl wRsdy 24)?
@ v ‘ ® VI
- (©. v O KX

Which one of the following would be your reaction to the statement “Research leads to

wasteful expenditure” ?

A) I agree with the statement B I am not sure

(© - 1 disagree with the statement (D) It is true in most of the cases
ezl RRds W iy 87— DA wdamisl]l i Rawt WS qidl ulalu g @‘?
@ ¢ v Qar WA Aud ¢ ® U vidl Al

©  § 2 Qaur WA 2Aud ¢ @) 2l eudl i Wy B

Paper—I—C 5 P.T.O.



12,

13.

14.

15.

Y

(© % uRewrdl sl

©  wad
Paper—I—C

Which one of the following is most essential for a researcher ?

A Genuine interest in

Research

® Good understanding, of Research Process

© Adequate interest in and aptitude for Research

0)

Patience and Perseverance

QA udariidl 5§ ool AWas W2 AARsaH %33 7
@  Adwia-i v sk

®

datan wEudl Glel any

© Al wuhda 23R 2 Ayl

® &4 ud Qa2

A mature researcher is one —

®

Whaose hypothesis- i

Whose hypothesis and thesis are identical

Who maintains critical gap between hypothesis and thesis
© Who has an open mind about the results

o t

very often rejected

ylluse Aas A s —

@ %l Geseynl xR
® %l Geseurt A

@ 3l Geseurtt gell
Which one of the followin
A to create knowledge
© to solve problems
2 pdennidl AiaA-d
@ s UuF 59
©  AHRAL Gladl

A4

e Reid s €l D
W Rgid a2 s2sdlg »dr W B
[ ved WL AW B
AR wRagd ay 8
g is the purpose of research ?
(B) to construct reality
.. . (D Al of the above
sul &g sly 87
® audd Rl sq
©) Gu-L Gy ¥

Which one of the followin\g tools would yield relatively most valid data ?

A Attitude Scale
© Opinionnaire

{3 uddr Aqgiat Gus
@  qd9t Hiut wkell

(B) Rating Scale

(D) Observation Schedules
RiHiefl sul 48 HedH 4 wAisSL U 4d?
® NS Hiud qell
@) wadis wkell

s .



16.

17.

18.

A person w.ho harbours no absolutes and appreciates logical alternatives adheres to :
A Scientific Realism (B) Positive Relativism
(C) Logical Empiricism (D) Logical Positivism
% Ald A& Al wraw ved alds Ased dR§ et A 8 A QA-uniel su
dtert Rigidin gl 87
@  QaulRs qadae
®  adicis Adadiae
©  dulfs sgeraale

O s qaricisdias

‘X’ includes Y. Y’ is included in ‘Z’. Therefore : -

&) X is included in Y . ® Yisinclded in X ©

© Both are same ' (D) All the above are possible

X UL Y AR 8 77 1oy adide 9. adl

@ X 7w w9

® Y xr ul Wl 9

© ol AsANA B

O  GuL o o Aeid 8

You are working on an urgent a‘ssignment at night in your study. The assignment has
to be submitted the next morning. Suddenly, it is pitch dark in your house. Tick the option
that would be your first response to this situation.

4) Ring.up the night duty staff of the electficity office

® Check the main fuse

© Curse the electricity board and their supply

(V)] Check up if there is light in the adjacent houses

AR MR 2eRALSHE A A5 dtdled Alwdg s s 8 i o slz{ qat Yelui
YU 57 B. AALAS dHIAL 4L AY 2T S A1 8. 2 WRRARAL ARl van
uldcua il e? |

@ Ryd qasu Al Rs g4 s

®  Hed §y A s

© * [gd oS 24 A1 YasiA duul eiisw

O usiad a3 sz 8 3 4 Al awr s2al
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21.

22.

19.

20.

The most effectiveb way for a teacher to make his students punctual would be to —
) lecture on it every second day

@B be punctual himself

© use teaching aids to make students understand its ’importance

O narrate stories on benefits of punctuahty ,

Ruas 2 d-u Rendlsil WA wuwdn saiaard W0l »RsR el ® ~
@ e ol [Rad A GuR v wuug

®  Wd wHA wad 539G '

© [Qendlxil dg deca uxF A 22 als wsius wHel- (mqm sl
@ AL el it QA ardfb sad)

Why are many people eager to join teachmg profession ?

(A) . Teachers serve the entire society

® More job opportunities are available in teaching profession

© Adequate éa_lary is paid in this profession

D) Teaching is considered an easy job

VI AAMHL ASIAU WS HRAL dlS W WS 2R &Y D7

@ . veuush Wi wurdl Aal s 9 ,

® RN Haudl s ag af Guasy @

© 2 ARUEHL WYRE WU A Wl B,

@) ARV ASG S WAL 2ud D

The most desirable quality in a teacher is —

(A) Mastery of the subject o (B) Mastery of teaching competency
© Clarity of thought and expression (D) All of the above

- A weuusil Al ay Sxoelly qam @ —

@ RN ol ueq ® WA M Ne{cd

© RAR da 2RABd- Wedt @) Gy aaL o

Which one of the folloWing can be the most effective method for building student’s character ?
@A) Lecturing on moral values (B) Teaching about the lives of great men -
© Living example of a good teacher (D) Praising good character
Renellati-n R4 asdr 12 DAl 5§ uRR Wl ag A28 87
@ - ARs *uu QA eumal vl

®  AMSYRNIU wad QA eruag

© ¥ W Qas a3 wdd Gesw Y3 wsq

O® e AR-ul usiu s}
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23. A student comes late to the class daily. You as a teacher would —
@A pull up the student with sarcastic remarks
® not allow the student to enter your class
© tell the student to be in time
O allow the student to come in quietly .
arit adlui s Qendl Ao st 2ud S, A5 Qas aWy ar - -
@  saiayel Awell s34 Qe susi suval
® Rendld dul adlui ndaa 4l €l
© Rendld Anuu swaa sdal
@ [Reueld yuay g suqal il
24, Which of the following is the most undesirable for a teacher ?
A To be authoritative in the class = (@B) Te humiliate the students
© To keep the students at a distance (D) To treat the students as friends

A 2udamidl A5 Qas w2 55 onod A ag ARl B7

@ b aaen adq sg ® Rendlaiv Gl wsa ‘
©  Renellaidll id2 wmg © Qe wd Macud ada 59
25. When answermg a question in class if a student glves wrong response, the teacher should :

A) correct the student immediately .

® not put any question to the student

© give the correct answer himself

o re-direct the same question to another student

ol A Rendll adfvisui S5 naddl viel et 20 Y eund g sq ASA?

@ Qe o desta setd ® Reudld s yaua -t ye

© WA o7 WA gde 2l @  ollon siS Renelld A o w5 YR
Direction (Q. Nos. 26 to 30) :

Read the following text and answer questions 26 to 30 :

Television was, towards the end of the war in Vietnam, the main source of info_rmation

for most Americans, and the images on screen, in black and white, changed war reporting

forever. Morley Safer’s expose of American soldiers burning a village had a huge impact

on viewers at home, and added to the military’s distrust of reporters. In Vietnam,

correspondents were made honorary majors (World War II reporters had the momentary

rank of captain) and could travel anywhere on military transport if space were available.

The only condition : that they could not betray troop movements, a request that was respected.

The press battles were over misleading briefings which ran contrary to what the reporters

could see for themselves in the field. '

To this day, some military men glumly insist that television and the press lost the war

in Vietnam by demorahzmg the home front. The U.S. mlhtary would never again allow

such access to its operations as it did in Vietnam.

The tension between the military and the press will never cease, because both need each

other but cannot grant the other what it really wants.

Paper—I—C : , ' 9 ‘ P.T.O.




26,

217.

Qvlerin Yol id AHA A2l euotel AR s AR S MR 2[RRI URAAL Yvu Ald
oirfl %5y g —utrl wel Gul 2dd-2uin e9oflativl S1R8 Y-t AR dudarrll neuelui
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vied WSy d-fl AR sir eolsl YR AolE A USL A WHRWAlBlL dRgU Al

Qi GAA sl Qe vot Wl Hirid Al yedl suvami sudl sdl
“(oflon R2aygel AUl dl UiSL AMU WS Fiert oirlladdil Ul gdl), 24 dviia

Araril Al oouL Guasy sld dl qaus?l s wadl edl. a3d st 2edl sdl 3
Arull gseluti-l [Retne AAD 1S R il Gusl At Wl 2, 249 A AN wsuyds
sl suadl edl. A0 HsHi-l Aa 21 suoidial Gewrt Adl sdi ¥ vl us{lvil
A % 516 QS Usell el Al sl %8l ¥ WRA 505 wASR WRMeAE 2nAUHT Buad)
sdl.

% R, Avurll J2dls dist Bi~t eud Adl 2U3e Al $1d © 3 2RARA A MR
Wial o Bull disil R3eue 53 65 RQAern Yeui ez wdl sdl. R3e-mni
AR S A2 dididl AQRR2A Fedl wedsciel A Al edl, A €d wedl smds
s Al saw, S \ | ‘
Aru A AR el g2 Ay sudd aoll 4dl wsid, s 3 o Asolioarl
%32 dl 8, Yig HAsA ¥l WIv ¥32 B A A iyl 93 As el

During the Vietnam war, the military started doubting the press because of :

(A4) . the availability of TV for covering war ’

B the video-cassettes on the war

© the war images telecast by American television companies

D) the television images being black and white

Qalerin Yg e A-arit disl NI HHHL ds isielle o s 3

@ el AR BNl 12 Ao v Gualopi day |

® Y¢ QA QR 32 sruaami »udl

©  ARS @R su-flatial yerll soflvll uulRa 531

©® s wollail sAd-un sl edl

What was the major difference between war reporters of World War II and those of the
Vietnam war ?

The Vietnam war reporters :

@A) could go to all war fronts

® had a higher rank and more facilities

© respected their promise :

(())] had more disagreements with military authorities :

(Bl (s 3g 2wl R2l2Un Yartl v WD 9224 You dsiad G edl?
Qa2 Ygril oLyl :

@ - Q4L 46 WA ¥T Asdl sdl

®  GRdR €lel A a4y W Aaddl 4Rddl kdl

©  didirl 9l Wadl edl

© At 6 wsiEs Izl WA QU N Adl Sl

Paper—I—C . 10




28. The press battles were the result of :
@A) the diffe'rence ‘between the versions of military authority and the war reporters
® the different thinking and reporting of different reporters
© the press reporters’ different views on. troop movement
D) the different preés reports of various newspapers
WRA Arua-l a2 ¥ Aadd adl d-L i ¢
@ A wsilBsail dar yertt worRwlai-ll a8l Beat sdl
® QAR v Wi A~ R dut vdadl sl |
© Al aRARN QAR verw{lpia QR wRoudE el
O AR R Wikl AR wdad sdl

29 Some military men still believe that America lost the Vietnam war because:
.(A) the p_réss reporters betrayed the cause
(B)b the lmass media made people cry. against the war
© the television images on. war were improper
(1)) ‘the army became demorahsed
Jedls Al ¢ w Ad WA D I wAR s QDe-un Yg elg{ Qs s 8q ¢
@  vorRWA{lH A el 530 edl
® W8 Wepiinl disin geri QRRAeUL Al Gaiadl ds siul edl
© 4¢ QA @R ¥ oozl 2udl A A4 edl
O A sdicue ¥ Ag sd
36. The tension between the military and the press will continue because :
A) both of them want to emerge superior
® the press opposes the military
© the press serves the people and the military is 'faithful td the state
O) the press‘ l;ursues truth in all situations
At 2R WUAR L A drid A ¥ 8, 2 3:
@) Qe GRAR UE A s WAL B
® AR Wl A=u-l QA s 8 8
©  ANRAR WAL WAL AFER B, YU A AAAA aseR B
O WuAR Al s WRRaAHL Al diedl 8 8
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3l.  Mark the word that does not belong to the groﬁp :

A Smile - (B Anger
© Annoyance o D) Irritation
12 2ulan woeinidl o ol e sald) :
@ R - ® slu

| © AR - O dRwvy

32. - Spot the expression that does not belong to the group :

: @A Gnashing teeth (B)_ Knitting brows
© Creased foreheads ‘ (D) Smiling eyes
A2 suden velnid) 3§ e om sl B :
@  eld saswqal ® ™Al Az
© s 53l ysdl O wivii sug

Direction (Q. Nos. 33 to 35) : ’
In each of the following questions select the analogous term :
33. Bird : Feather : : Cat : ?

@)  Claw 4 ® Fur
© Ears (D) Skin
34. Heavy : Lead : : Cool : ? .
' [y Winter ¢ B Water
" © Ice (D) Breeze
35. Air : Animates : : Vitamins : ?
(d  Amino Acids (B Mineral
© Food D) Health

YAt (w33 ol wad 35 ) :
- 1wl uds wsrn GaUE dedaui woell waieoll 531 :
33.  wall : Iy : : Bensl : ? '

@ L ® 3ad

© - s O A
34 A%l : Al o &8l ?

@ ([ ® well

© 6§ O 48R
35. S UMW :: Qe : 7 : '

@ AR RS » ® vy

© Wi O) ARy

36. .The average age of 32 students is 10 years. If the teacher’s age is also included, then -

their average age increases by one year. What is the teacher’s age in years ?
@) 3 v ® 2
© 43 i

O 45
32 [Qenellati-l 32 G4 10 af B, A Riets Gz el @AM 2ud dl ¥

Guul As vl aaul wy B, Rasdl Gy Tear qf sQ?
A 33 ® 21 '

© 43 : ’ O 45 )
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317. The average wéight of a ring is 10 gm which contains gold and copbér in the ratio of
o 9.5 : 0.5. What would be the weight of copper in the ring weighing 8 gms if the same
ratio is to be maintained ? ‘
@A) 0.5 gm B 04 gm
©O 0.3 gm ®) 3.5 gm
As I AL A% 10 WA B FAi Al A ot HAUR 9.5:0.5 8. B ot Al
W wed ¥ Aadl uviarg iy di 8 el Il digy ean um eaV

@ 0.5 3% B 0.4 3.4
» © 0.3 3UH @) 3.5 AH
38. In a garden, there are peacocks and four-footed animals. All these have 98 feet and 35

heads. How many peacocks are there ?

@A) 23 : ® 25

© 21 ' ® 19

A allni deals W A AR oL o wefxil 8. dvil- o Holla 98 Mo A 35
Sl B, Al J2al Wik eal?

@A 23 ® 25
e 21 ® 19
39. Grass looks green because : -

A The eye responds to the green colour.
® The grass reflects only green colour.
© Green is one of the primary colours.
()] Green is not a warm colour.
wy dlg svuy 9, s 3
@ v dlal 398 wRsua WA B,
® WA W dlal vt wad- s 8.
© dldl o ya IauHiAL As V.
O ddl 32 Guuel o wdll. ’
40. In a coded message FRIEND is written as IOKCQA. Using the same code SPIKER will
be written as :
A) VMLIGT - . (B VNHHIV
©  VMKIHO ‘ ®) VNFMHP
A5 WiYRs WRWHL FRIEND 206 TOKCQA a1} i 8. 3 o U3s eumnil SPIKER
e L Ad @vud ¢

)  VMLIGT (B VNHHIV
©  VMKIHO ®) VNFMHP
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Directions (Q. Nos. 41 to 45) :
- In the following questions, you are given a statement. You have to 1dent1fy it as A—Assumption,

41.

42.

43.

44.

45.

Y-l

41.

42.

43.

B—Fact, C—Hypothesis or D—an oplmon, as the case is :

Quality of research is dependent on researcher’s knowledge of research methodology :

@A) Assumption ‘ B) Fact .
© Hypothesis ' - (D) Opinion
Teachi;xg is an art : ; |
A Assumption ' _ B Fact
© Hypothesis D) Opinion -
Physical growth of a learner is age related :
()  Assumption ’ ® Fact
© Hypothesis | (D) Opinion
Manipulation of independent variable/variables is required in experimentation :
)  Assumption ® Fact
(©  Hypothesis (D) Opinion

" Protein is essential for reconstruction of cells :
@A) Assumption B Fact
(C) Hypothesis (D) Opinion

(w2 . 41 ol 45 W2) : o
02 20l uAs w2l As Reqt 202G 8. A 454 a4 B 3 uds Reaw

A—ydairau, 3 B-edlsd, 3 C-Geseurl, 3 DU &

Aelignll Qaadidl 2uai ddliasd Aslaqd YR it 42 2wald Gu 9 ¢

@  ydaien ® eslsd
©  Geseurl O e
YA WS SAU D ;- | |
@ ydaweu ® eslsd
(©. Geseusu O e
A WIARS RSy 20auRd Gy B ¢
@  ydaeu | ® sslsd

©  Geseunu O AR
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@  ydaru ®)
©  Gesewt D)
45, SRS yrFBla wR sidd siaus 9 ¢
@ udaran ®
©  Goseul ®)

Directions (Q. Nos. 46 to 50) :

e Slsd
SRR

S Slsd
WA

Given below is a series of numbers which follows a rule and one number is missing. You

have to find that number :

qat (uat . 46 ol 50 W2) =

A z«iwn»iu_{l Al wuuari 2udl 8, ¥ s Pl wR sualRa 8. sl A viedl
vl GRarl 8. ud Q Avul sdl sl § ¢ | |

46, 1,3, 5 7, 11, 13, .. .

@ 15
© 19
47. 3,15, 35, 77, ...
@ 142
SO 14

- 48. 3, 5, 9, 15, 23, 33, 45, ...7.r.

@ 59
© 68
49. 4, 2, 5,1, 6, ..%0.. .
@ 8
© 9
50. 1221, 2442, 3663, 4884, ...7....
@A 6084
€ 6000
Paper—-——I:-—C |
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@)

®
®)

®)
o)

®

D)

®
)
15

17

21

156

172

61
69

5665
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ROUGH WORK
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